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Network with the above calculated network
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Network with wrong DAC common mode
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Description
terminal voltage V1
terminal voltage V2

DAC full scale output current

Extemal load for each DAC output pin

DC level at DAC output pins

DC level at modulator input pins

Resistor 1 ideal value
Resistor 2 ideal value
Resistor 3 ideal value

Peak-to-peak voltage at DAC output pins
Peak-to-peak voltage at modulator input pins
Attenuation between DAC output and modulator input

Vi V)
V2 (v)
Ifs (mA)
Load (Ohms)
[Voc_osc (V)
[Voc_woo (V)

Answers
R (Ohms) = 65.79
R2 (Ohms) 176.77
R3 (Ohms) 3157
Vee_ozc (Vip) 1
Ver_uoo (VoR) = [0.152
|Attenuation (aB) = |-16.39
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